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Topic:- GEMETICS MSC 52

1) In March 2013, German researchers published the DMA sequence of the genome of a cell line, which were derived from
cervical cancer cells taken unknowingly from a female patient in 1951, What was this woman's name and what is the name

of the immaortal cell line derived from her?
[ﬂ_uestl-un ID = 4375]

B =

Menrietta Lacks: Hela cells [Option iD = 1745%4]
Charlotte 0" Hara; CHO cells [Option 1D = 1749%]
Henrietta Kebvim; HEK cells [Option ID = 174%6)

. Simane Hayes; SiHa cells [Option 1D = 17497)

Comect Answer -
# Henrietta Lacks: Hela cells |I'.'l|:||:||:|-r|. D=t J'-l-?«l-]

.hl.-h-—-

Correct Answer --

2) Which one of the following geometries do the atoms in a molecule of water adopt?
[Question ID = 4376]

- Linear [Option 1D = 1745%)

- Tetrahedral [Option 1D = 17459%)
. Octahedral [Option 1D = 17500]
. Trigonal planar [Option iD= 17501]

Correct Answer -
# Tetrahedral [Option 1D = 174%5)

3) Which one of the fellowing constitutes the chemical form of the bulk of stored energy in the human body?

[Question ID = 4377

1. Gluoese [Option 1D = 17502]
I. Glycogen [Option D = 17500)
1. Fatty acids [Option D = 17504]
4. Triglhpcendes [Option 1D = 1 ]

#® Triglycendes [Option iD= 1 ]

4) Tetracycline blocks protein synthesis by
[Question ID = 4378]

- Inhibfting translocase enzyme [Option D = 17504]
Iinhibdting peptidyl transferase [Option 1D = 17507)

1

r

1. Inhibiting binding of aminoacyl tAMA to Abosomes [Option 1D = 17508)
4

- Inhibiting imitiation of translation [Option 1D = 1750%)

Correct Answer --
#® Inhibfting binding of aminoacyl tANA to rbosomes [Option 1D = 17508)

5) What sort of experiment 5 done to determine whether two mutations are in the same or in different genes?

[Question ID = 4379)
1. Complementation test [Option ID = 17510]

I_ Chi-square test [Option D = 17511]
3. Co~dominance test [Option 1D = 1751Z)

4. Epistasis test [Option ID = 17513

Correct Answer --

# Complementation test [Option IR = 17510]

&) The genetic map for three genes &, B and C is as follows: A-B = 10 map units, B-C = 5 map units and &-C = 15 map units,
In an individual of genstype AbClaBe, the percentage of gametes expected to be Abe is (assume no interference)

[Question ID = 4380]
1. 0.25

[Oation 1D = 17514)
¥ 05

[Option ID = 17515]

j 1

[Opticn ID = 17516] www.FirstRanker.com

4. 50
[Option 1D = 17517
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71 The following table represents the F; progeny obtained following selfing of Fy progeny derived from a cross between
parents with pure dominant and recessive phenotypes. Further, the table shows the results for fowr different phenotypes.

The phenotypes are governed by single or multiple genes.

Fhenatype Paminant Phenotype [Recessive Phenotype
Plant height  B5 7

Flower color ~ [72 25

Fod size T 2

Pod shape his 2

ldentify the phenotype which is governed by a single gene

[Question ID = 4381]
1. Plant Height

[Option iD= 1751
I Floveer color

[Option 1D = 1751%)
3. Pod size

[Option ID = 17520)
4. Pod shape

[Option 1D = 17521]

Correct Answer -
& Flower oolor

[Option 1D = 1751%)

8) The early genetic
[Question ID = 4382]

& phenotype governed by a
The kocation of the gene on t

1.
1.
1. The gene specifying a given
4.

that were developed used phenotypes as markers because:

could be visually identified and fts inheritance pattern followed [Option 1D = 17521)
chwomasome could be easily identified by banding patterms like in the polytene chronfosomes [Option 1D = 17523)
ool be easily cloned [Option 1D = 17524)

Correct Amswer =-

& A phenotype governed by a gene could be visually identified and ftx inheritance pattern followed [Option 1B = 17522)

9) Duplication, deletion, inversion and translocation are examples of chromosomal rearrangements, Which of these can lead
to changes in the genetic map?

[Question ID = 4383]

1. Transiocation and duplication [Option 1D = 17524)

I. Deletion and inversion [Option D = 1752F]

1. Translocation, duplication, and deletion [Option 1D = 17528]
4. Duplication, deletion, inversion and translocation [Gption 1D = 17529)

Correct Answer =-

# Duplication, deletion, inversion and transiocation [Opkion 1D = 17529)

10} With reference to spontanesus mutations, one of the questions asked by geneticists was whether spontamneous
mutations are induced in response bo external stimuli or whether variants are present at a low freguency in most
populations. In order to answer this, “fluctuation test™ was carried out by:

[Question ID = 4384]

1. Salvador Luria and Max Delbniick [Option 1D = 17550)

I Francom Jacob and Jacques Monod [Option 1D = 17531)

3. Thomas Hunt Morgan [Option 1D = 17533)
4. Seymour Benzer [Opticn 1D = 17533)

Comect Answer -
& Salvador Luria and Max Delbniick [Option 1D = 17530)

11} In E. cali four Hir strains donate the following genetic markers, shown in the of der donated:
Strain 1: ADCEQ
Strafm 2: AKMTY

ST ETWE

Strain 4: MT Y X W

the nal F*?
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[Option il = 17534
P YTMEADCEQWXY

[Option ID = 17515]
L DCEQAKMTYXWD

[Option 1D - 1754]
4 CEQWEYTMAKDC

[Option 1D = 17517T)

Correct Answer --
a YTHMEADCEQWXY

[Option ID = 17515]

12} Given that an autesomal gene has & alleles, how many heterarygous genotypes can be formed?
[Question ID = 4386]
1. 12 [Option 10 = 17538]
I 15 [Option 10 = 17539]
3. 18 [Option 10 = 17540]
4. 4 [Option i « 17541]

Correct Answer --
# 15 [Option 1D = 17519]

13} Mendel's law of segregation, as applied to the behaviour of chromosames during cell division means that:

[Question ID = 4387
1. Alleles of a gene s=parate from each otfer when homologous chromosomes separate at meiosis || [Option 1D = 17542]

I. Alleles of 2 gene separate from each other when chromatids separate at meiosis 1 [Option 1= 17541)
L IO Eoarate a9 o when chromatids separate at meloss | if there

4. ps separate at melosts | if there

is a cross ower between the gene and the centromene [Option 1D = 17545]

Correct Answer -
& Alleles of a gene separate frgm each other when homologows chromosomes separate at meiosis |, or when chro
is a cross ower between the gene and the centromene [Option 1D = 17544]

atids separate ab meiosi | if there

14} Interference is a common phenomenon during crossing over in meiosis. As the frequency of observed Double Cross
Owver (DCO) becomes close to the expected frequency of DCO, the coefflicient of coincidence will:

[Question ID = 4388)

1. Increase

[Ootion 1D = 1754
I Decreass

[Option 1D = 17547
1. Remain same

[Option iD= 1754
4. Mo relaticrship between the two

[Option 1D = 175445

Correct Answer --

& Increase

[Option 1D = 7750
15) When two plants with pink flowers are orossed, the progeny obtained has pink Nowers. 'When the Fy pink-flowered
progeny is selfed, the Fi progeny have pink-flowened and white-flowered plants in a 151 ratio. This is a case of
[Question ID = 4389]
1. Incomplete dominance [Opticn 1D = 17550)

I Duplicate gene [Option 1D = 17551)
3. Recessive epistasis [Option D = 17552
4. Dominant epistasis [Option 1D = 17553]

Correct Answer =-
» Duplicate gene [Option ID = 17551)
16} In humans, the haploid nuember of chromosomes . wﬂ?g&mmﬂmhm oocurs, how many different

types of gametes can arise by independent assWI, FIrS

[Question ID = 4390)
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Correct Amswer -
# 3 [Biption iD - 17555)
17} Colour blindness is an X-linked recessive character. A colour-blind man and his wile with normal vision have a eslour-
blind daughter. What is the probability that their new born son would be colowr-blind?
[Question ID = 4391]
1. O [Option ID = T7558]
3. 1/4 [Option B - 17559)
1. 1/% [Option 1D = 17560]
4. 1 [Option iD= 17581]

Correct Answer --
& 1/2 [Option 1D = 17560]

18} In Drosophila (fruit flies), eye colour s sex-linked and red eye colowr is dominant te white eye colour. Which of the
following are not possible in a cross between a red-eyed male and a heterozygous female?

[Question ID = 4392)

1. Bed-eyed male [Option ID - 1756)

I_ ‘White-eyed male [Option 1D = 17541]

3. Carrier female [Option 1D = 17564]
4. Homazygous white-eyed female [Option 1D = 17565)

Correct Answer --
& Homozygous white-eyed female [Option 1D = 17545)

19} The freguency ol a disorder conbrolled by an autesemal recessive allele is 1 in 10000, What is the freguency of the

recessive allele?
[Question ID = 4393]

. 14100 [Option 10 = 17568]
1/200 [Option IO = 17567]
1/ 1000 [Option ID = 17568]
1/2000 [Option I - 17569]

.hl.-H—-
bl

Correct Answer -
& 1100 [Ellphnnl} I.'|‘5H]

20) Balanced polymorphism describes the preservation of genetic variability through the selection of heterozygotes. Which
ane of the fellowing is an example of balanced polymorphism?

[Question ID = 4394]

1. Blood grovps [Option 10 = 1F5R0)

I Sicke cell trait [Option I = 17571]

1. Skin colour [Option BB = 17572)
4. industrial metanism [Gption 1D = 17573)

Correct Answer -
& Sickle cell trait |EI|:|I:|nr|. i =1 ?‘SJ"I]

21) What genotype is present most often among the progeny (F2) of a dihybrid cross (4a8b X AaBb)?

[Question ID = 4395]
. Aabb

[Opticn 1D - 17574]
1. AASD

[Option 1D - 17575]
3. AABR

[Option ID = 17574]
4. AAbb

[Ootion 1D = 17577
Correct Answer --
& AsBb

[Cotion 1D = 17574

22) A man and a woman, whe do not show arrgr apparent of a certain inherited disease, have seven children (5
daughters and 5 sons). Three of the sons 5u1‘1' E-GOML e of the daughters are affected. Which of

the following mode of inheritance can explain these resulrj ?
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4. Se:l.Lu'm'h.-d derminant [Option ID = 17581]

Correct Amswer =-
#® %ex linked recessive [Option 1D = 1757H)

23) What are the assumptions of Hardy Weinberg equilibriem?
[Question ID = 4397]
1. Small population size, random mating. no selection, no migration, no mutation [Option iD= 175E3)

I. Large population size, random mating, no selection, no migration, no mutation [Option 1D = 175&1)
3. Large population size, random mating, heterorygotes survive the best, no migration, no mutation [Option D = 17584]

4. Large population siee, like indtviduals mate, no selection, no migration. no mutation [Option 1D = 17585)

Correct Answer --
& Luge population stee, random mating, no selection, no migration, no mutation [Option 1D = 17581)

24) In the Himalayan rabbits, the ears, feet, and murzle are pigmented while the rest of the body i white. This is because
of they express an enzyme variant that is ineffective at body temperature but function at lower temperature experienced
by cells of extremities . This is an example of!

[Question ID = 4398]

1. Incomplete dominance [Option 1D = 17584]
1. Conditional mutation [Option ID = 175&7)
3. Suppressor mutation [Option D = 17588]
4. Epistasis [Option D = 1758%9]

Correct Answer --
» Conditional mutation [Option 1D = 175&7]

25) Which af the following is an autesomal deminant disorder?
[Question ID = 4399]

1. Huntirgton's diseass [Opkior) 1D = 175%0)

I Tay-Sach"s disease [Option I = 17591]

3. Cystic Fibrosis [Option 1D = 17592]

4. Sickle Cell Anasmia [Option Iy = 17581

Correct Amswer -
® Muntington's disease [Option 10 = 17320)

26) Wn a cloning experiment, the ‘gene of interest” is to be inserted into the lacl gene present on a vector which alsa
carries the gene for tetracycline resistance. The transformed cells are plated on three (3) different media containing
i) tetracycline + X-gal,

i} enly tetracycline, and

i) only X-gal;
which one of the following results would indicate successful cloning of the gene of interest?

[Question ID = 4400]

1. ‘White colony on the tetracycline = X-gal plates

[Option I = 173534]
I. Blue colony on the tetracycline = X-gal plates

[Option D = 175%5]
3. any colony on the tetracycline + X-gal plates imespective of cobor

[Option D = 17554]
4. Blue colony on X-gal plate which does not grow on tetracycline plabes

[Option 1D = 17547

Correct Answer --
& ‘White colony on the tetracycline = X-gal plates

[Option D = 17554]
27) In a typical Palymerase Chain Reaction (PCR), the reaction i cycled between 95°C — 55°C — F2°C. If the
composition/length of the primer pair is altered, which omne af the above mentioned temperatures should be adjusted

accardingly?
[Question ID = 4401]
1__55"C [Option 1D = 17598)

1. 55°C [Option ID = 17599)
3. 72°C [Option 1D = 17600) www.FirstRanker.com

4. S5°C and T3 [Ogtion 1D = 17601]



FirstRanker.com
https://firstranker.com/
https://firstranker.com/

:l » FirstRanker.com

A Firstranker's choice

28) Which ane of the following statements anﬂﬂfm ﬁi!l!'hm—hgnnu MEMT‘JW

[Question ID = 4402]

1. It is fumed with the activation domain of a trarsonption factor

[Option D = 17&02]
I It is fused with the DHA binding domadn of a trarecription factor

[Cotion 1D = 1T&0E)
3. It is ewpressed only if the proteins bedng tested inkeract

[Option il = 17604]
4. It abways reguires the preserece of histidine in the growih mechum for its expression

[Ootion 1D = 17605
Correct Answer --
# |t is expressed only if the proteins being tested interact

[Option ID = 17604]

29) Which af the following technigues will one use to identify the spatial pattern of expression of a gene in a develoging
embryo!

[Question ID = 4403]

1. Microarray

[Cotion 1D = 17604
T in sibw heybridizmtion

[Option iD= 17&EF)
1. Morthemn Bybridization

[Option 1D = 770
4. gPCR

[Option ID = 1760

Correct Answer -
& In stbr hybndizakion

[Option iD= 17&EF)

30) Colchicine treatment of root tip meristem cells results in all of the following EXCEPT:

[Question ID = 4404]
1. Induction of polyploidy

[Option ID = TR0
I_ Prevention of cytokinesis

[Oetion 1D = 17&11]
1. inhibftion of melotic spindle assembly

[Option D = 17%12]
4. Prevention of chromosome segregation

[Option 1D - 17613]

Correct Answer -
# |nhibition of melotic spindle assemibly

[Option 1D - 17612]

31) Which one of the following technigues can be utilized to investigate DHA-Protein inberaction?

[Question ID = 4405]
- DHA foot printing [Option 1D = 17814)
- Comparative Gemomic Mybridization pCGH) [Option 1D = 17815)
. Yeast thwee hybrid systemn [Option 1D = 17614]
- Sirgle-strand conformation polymorpiism (35CF) [Option 1D = 17617

.h-l.-h-—-

Correct Amswer =-
& [OHA foot pn1|:|ng [ﬂp'hun [ I]‘ﬁld-]

32) Which one of the lollowing microscopy technigues is based on the specimen's interference with the wavelength of light
to produce a high contrast image without stainiWW.FirstRanker.com

T TQuesen 10 = 4406]

1. Bright field Hght microsco D = 17518
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Comect Amswer -
® Phase contrast microscopy [Option 1D = 17630)

33) 305 s wsed in gel electrophoresis for the separation of a mixture of proteins based on their molecular size. 505 is used

Lo

[Question ID = 4407

1. Dimngpt protein dimers [Option 1D = 1762E)

I. Stabdlize the proteins [Option 1D = 17623

1. Decrease the mrface tension of the buffers [Option 1D = 17824)

4. Have s undform charge density on the proteins [Option iD= 17625]

Comrect Amswer --
& Mave a uniform charge demsity on the proteins [Option iD= 17625)

34) A breeder identified a variegation mutant in the leal colour in a normal green population of maize. To study the

genetics of this mutant he made a cross between variegated and green plants using variegated as the female parent. All
the Fy and the selfed F; progeny were variegabted. The leal variegation in maize could be due to:

[Question ID = 4408]
- Maternal effect [Option I = 176264]
Mendelian inkeritance [Option 1D = 1T74ET)

1

r

3. maternal inheritance [Option I = 17828)

4. Mendelian inheritance, with variegated being domirent over green [Option 1D = 17629)

Correct Answer =-
# Maternal inheritance [Option 1D = 17628]

35) You have a protein which has a different three-dimensional conformation based on whether the buffer has acidic or
and you lind the protein

protein on a 1lom Hative

basic pH. You separate it on a 10cm long 4 : ;
band to have migrated to Bom after ap-plrlng I'Dm.hcurunt far 3-I'n Yiou I'.hen i.eparal:e the same

PAGE made with buffer of|pH 11 for 3hrs by applying a current of 20mA. How far would the protejn band run?

[Question ID = 440%]
1. Greater than 8 om but less than S%om [Option 1D = 17630]
I_ Equal to Bom [Option ID = 17831]

3. Less than Ecmi bt further than éom [Option 1D = 1781I)
4. Either greater or less than &chn [Option 1D = 17&1T)

Comect Answer -
# Either greater or less than Scm [Option 1D = 1763

36) Which ane of the following processes fs used by some bacteria to regulate sxpresshon of an aming acid blosynthetic
operon in atcordance to the levels of aminoacetylated tRMA in the cell?

[Question ID = 4410]

- Antitermnination [Opticn 1D = 17634)

1
I Attenuation [Option 1D = 17835)

3. Amircacylation [Option 1D = 17638]

4. Activation of transcription [Option 1D = 174637)

Correct Answer -
® Attenuation [Option 1D = 17835)

37) The DMA content a gamebe of a diploid orgamism is “C*. What will be the DMA content of its somatic cell in G; phase of

cell cycle?

[Question ID = 4411]

1. 1420 [Option 1D = 17638]
¥ C [Option 1D = 1763%]

1. I [Option ID = 1740)
4. 40 [Option 1D = 17641]

Correct Answer -
& I [Option 1D = 170

38) Wariation in which types of repeat sequence commonly arise by replication slippage?

[Question ID = 4412]

1. Microsatellites [Option ID = 17842)
T, Mintatellfes [Option B = 17841)
3. Betrotran 5 D = 17844]
4. DHA transposon [Option 1D = 1754%5)

Correct Arsser - www.FirstRanker.com

& Microsatellites [I:Ip'h-un b= I?M-I]
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1. Maternal. gap, pair-nube, segment polarity
[Ootion 1D = 174

I. Gap, maternal, segment polarity, padr-rube
[Option 1D = 17&4T)

3. maternal. pair-rule, gap, segment polarity

[Ootion 1D = 174
4. Gap, segment polanty, pair-rule, Romeotic genes

[Ootion 1D = 1745

Correct Answer --
& Maternal, gap, pair-nobe, segment polanty

[Option 1D = 174

40) The process of non-reciprocal recombination by which one allele in a heterozygobe is converted inte the corresponding
allebe s called:

[Question ID = 4414]

1. Gene targeting [Option I3 = 17850]

I. Gene knockout [Option iD= 17651

3. Gene replacement [Option 1D = 17&53)

4. Gene corversion [Option 1D = 17651]

Comect Answer -
# Gene comversion [Option 1D = 17653]

41) Which of the following can be taken as evidence for “Genomic Equivalence’: the theary that all cells of an organism
contain an equivalent compiemment-of-geretic trformethon?

[Question ID = 4415]
1. Sequencing of the human geroms

[Option D = 17&54]
. Cloning of Dolly

[Ootion 1D = 17655
3. Analysis of transcriptome of different stages of development in Drosophiia

[Cotion 1D = 17454
4. Development of a detailed genetic map in Newrospora

[Option 1D = 17&5T)

Correct Answer --
# Cloning of Dolly
[Ootion 1D = 17655

42} In mebosis, an inversion in one member of a pair of homologows chromosomes will most likely lead to which of the
Tallowing?

[Question ID = 4416]

1. Mondisjunction of the affected chromosome [Option ID = 1785E]

I_ Chromosomes with duplications and deficiencies [Option 1D = 1759

3. inoreased recomiination freguency in the inverted region [Option 1D = 17660]

4. Mispairing of the affected chromosome with a mon-homolagous chromosome [Option 1D = 17661]

Correct Answer --
# Chromosomes with duplications and deficiencies [Option 1D = 17659)

43) Bacterial core RMA polymerase (RMAP) can bind to DMA. However, in order to initiabe transcription from specific
promoter sequences, it nesds o associate with a sipma factor to form the holo-enzyme. The following table gives
information on the binding of core and holo- RHAP to DHA.

A sencjation constant

Half life of complex (AU}
[ Arbitrary Units )

ith non specificWith promoter

Fore RHAP 1 1 www.FirstRanker.com

Holo RMAF 1 100 0.1 1000
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[Question ID = 4417]

1. The holo FMAP can bind to longer stretches of DMA sequence this increasing the probability of its binding to the promaoter

[Option D = 1743]
z. Binding of sigma factor increases the catalytic activity of the core BHAP

[Option il = 17841]
3. Sigma factor reduces the non-specific binding of the core RMAP and increases the binding to promoter DHA

[Option 1D = 77
4. Sigma factor provides catalytic site essential for transcription

[Option b = 17845]

Correct Answer --

# Sigma factor neduces the non-specific binding of the core RMAR and increases the binding to promoter DHA
|l:'J|:|I:|n-n Ik = 'IJ'EH-]

44) What is the most likely mode of inheritance in the following pedigree?

[Question ID = 4418]

1. Autosomal domminant [Option iD= 17688]

I. sutemomal recessive [Option |ID = 17&64T)

3. X-linked dominant [Option ID]= 1765E]

4. Mitochondrial inheritance [Ogtion iD= 176&%]

Correct Amswer =-
# Mitochondrial inheritance ||'.'|'|:|I:|n|1 D= 'IJ'&H?]

45) i a geneticist were to closely examine the make-up of a single avtosaomal chromasome from one of your cells, that
chromasome would be found to be

[Cuestion ID = 4419)

1. Derreed entirely from genes from just one of your grandparents [Option 1D = 17&F0)

I & mosaic of genes derved from your mother and father [Option 1D = 17871)

3. & mosaic of genes derived from all fowr of your grandparents [maternal and patermal) [Option 1D = 17672)

4. & mosaic of genes derived from either your maternal grandparents or your paternial grandparents [Option 1D = 17673

Correct Answer --
& 4 mosaic of genes derived from either your maternal grandparents or your paternial grandparents [Option D = 17871)

46) In a hospital three babies were mized up. The blood growup of the babies were A, B and AB. In order to identily the
parents, their blood groups were determined. The results abtained were:

Parent et 1 - A and AB
Parent set 2 - AB and O
Parent &t 3 - B and AB
Which one of the following conclusions can be definitely mades?

[Question ID = 4420)
1. The baby with blood group & is the oiild of the parent st X

[Option 1D = 17674
z. The baby with blood grogp AB s the ohild of parent set 1

[Option B = 17T5]
[T e e pr———

qutmn D - 1?t-?b] www.Firs Hlnnknr.cum

[Option ID = 17677]
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47} The concept of one gene one enzyme hypothesis was proposed by Beadle and Tatum by studying:

[Question ID = 4421]
1. #Awmptrophic mutants of Fscherichdo ooli

[Option 1D = 17&TE]
¥ Biochemical mutants of Meurospora crassa

[Option 1D = 17&RS)
1. ‘White eye mutants of Drosophilo melonogoester

[Ootion 1D = 7780
4. Temperature sensitive mutants in Soccharomyors cerevisioe

[Option 1D = 171

Correct Answer -
& Biochemical mutants of Meurospora cressa
[Option 1D = 17&RS)

48} The most cormmon pathway from a gene to a protein in eukaryotic cells involves:

[Cuestion ID = 4422 )

1. First, transcription of BMA and fis processing, then its transport, then translation [Option i = 17682)

I_ First transcription of the RMA and its trarsport., then processing, then trarslation [Option 1D = 17&ET)

3. First, processing of the BMA and its trarsport, then transcription, then translation [Option 1D = 17684)

4. First, transport of mAMA followed by its processing, then tramsoription, then transiation [Option i = 17885)

Correct Answer -
# First, transcription of BNA fts processing, then its transport, then transiation [Option I = 17682]

49} Which ane of the fall
represented]

[Question ID = 4423]

1. (AAAASAATARANA ) [Opti
I (CGLGLGLGOGLGIGH [Opt
N (AAAASAAAAAANA )y [Option ID - 176EE)
4. |AGAGMEAGAGAGAS e [Option ID - 17485]

Correct Answer -
® ((GLGOGOGCGOGEEG N [Option ID = 1TTEET)

50) Speciation that eccurs when two groups of the same species shares the same ecological niche, but evolve differently so
that they can no kbnger interbreed is called as:
[Question ID = 4424]

1. allopatric speciation [Option 1D = 176590]

I. Sympatric speciation [Opeion D = 17891)
1. Parapatric speciation [Opkion 1D = 17692)

4. Peripatric specistion [Option D = 17851]

Correct Amswer =-
& Sympatric speciation [Option 1D = 17891)

51) Homologows genes that are in direct line of evelutionary descent from the ancestral genes but have ended wp in
different gene pools because of speciation are called ;

[Question ID = 4425]

1. Momologous [Option D = 17894]

2. HMomeologous [Option B = 17695]

3. Orthologous [Option 1D = 178596

4. Paralogous [Option 1D = 17857

Comect Answer -

# Orthologous [Option 1D = 178596

52) Choose the correct order of the following events in meiosis.
(1) Homologous cr.r-nmusame-.r.iepuate

(3) Hﬂml-ngnm chrumn-s.mts pair
{4) Homaolegous chromosomes recambine www.FirstRanker.com

T [QOEE 10 = A4 76]
1. {4}, (X1, (1), (¥} [Option B = 17698]
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Correct Answer -
& 1), (4), (1h, (£} [Option B = 17700]

www.FirstRanker.com www.FirstRanker.com

53) The allele associated with sickle cell anaemia apparently reached a high frequency in some human populations duee to:

[Question ID = 4427)
1. Random mating [Option ID = 17702]
I. migration of mndividuals with the allele mto other populations [Option 1D = 173

1. Superior fitness of heterozygotes in areas where malaria was present [Option 1D = 17704)
4. & high mutation rate at that specific gene [Option 1D = 17705]

Correct Answer --
# Superior fitness of heterozygotes in areas where malaria was present [Option 1D = 17704]

54) The phenomenon in which the severity of symptoms in genetic disorders increases from generation to generation is
called:

[Question 1D = 4428]

1. Genetic dnft [Option iD= 1770&]

I. Genetic anticipation [Option 1D = 1770F)

3. Genetic polymorphism [Option 1D = 170E]

4. Genetic evosion [Option 1D = 177049)

Correct Answer -
» Genetic anticipation [Option 1D = 17707

55} The -10 region of E. coli promoter recognised by sigma ™ is rich in bases.
[Question ID = 4429]

1. &, G [Option 0 = 17710]

. €. T [Option ID = 17711]

3. &, T [Dption 0 = 17712]

4. €, & [Option iy = 17713]

Correct Answer -
® & T [Option iD= 17712]

56) Homeothc genes are sible for:
[Question ID = 4430]

1. Homeostasis [Option 1D = 17714]

1. Development [Option 1D = 17715)

1. Cell cyde [Option 1D = 17 14)

4. Stemness [Option iD= 17717]

Correct Answer -
# [fevelopment [Option D = 17715]

57) Which one of the following plays a key role in cartilage regeneration?

[Question ID = 4431]

1. Perichondrivm [Option 1D = 17718)
¥, Chondroblast [Option 1B = 177149)
1. Osteoblast [Option 1D = 17730)

4. Periosteumn [Option 1D = 17721])

Correct Answer --
& Perichondrivm [Option 1D = 17718)

58) Which one of the fallowing can slow-down the contraction rate of the heart muscle?
[Question ID = 4432]

1. &drenalin [Option ID = 177EZ]

1. Epinephrine [Option 1D = 17723)

3. Testosterone [Option 1D = 17724)
4. Acetyicholine [Option D = 17725]

Correct Answer --
# Aretyicholine [Option 1D = 17725]

59) The HIH1 strain of Influenza A virus emerged in Mexico and spread very quickly across the world killing more than
20,000 people. The viral genome when sequenced had components of swine Mu virus, avian virus and human influenza
i procerrby-wincir i peremiestreir b ey e

[Question ID = 4433]
1. Antigenic shift [Option ID = 17726) www.FirstRanker.com

I_ Antigemic drift [Option 1D = 17727)
3. Genetic reaszortment [Option ID = 1772
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60} Which ane of the following mammalian cells generally CAMNOT metabolize glucose to carbon dicxide asrobically?
[Question ID = 4434]

1. ‘White blood cells [Option 1B = 17730]

1. Bed blood cells [Opticn 1D = 17731)

3. Liver cells [Option I = 17712)

4. Urstriated muscle cells [Bption 1D = 17713)

Correct Answer -
% Eed blood cells [Option 1D = 17731)

&1) Which ane af the following gene s responsible for the establishment of the anterior-posterionr body axis?

[Question ID = 4435]

1. Bicooid [Option 1D = 17734)

I_ Fushi tarazu [(ption 1D = 17735)
3. Bithroax [Option ID = 17714]

4. Even skipped [Option 10 = 1771T)

Correct Answer -
& Hiccoid [Option 1D = 17734)

62) In the presence of drug X, protein synthesis is initiated but only dipeptides are formed that remain bound to the
ribosomes thus suggesting that the drueg X affects protein synthesis by blocking

[Question ID = 4436]

. Activation of elongation factors [Opkion 1D = 17738)

. Activation of amino acids [Option i = 1773%)

1

X

1. The recognition of stop signals [Opticn 1D = 17740
4. The formation of peptide bonds [Opkion 1D = 17741

Correct Amswer =-
# Activation of elongation f [Option I = 17738]

63) The germ layer that gives rise to nerve cells is

[Question ID = 4437]

1. Endoderm [Option iD = 17F
. Ectodermn [Option ID = 17743)

1. Mesoderm [Option 1D = 17744)

4. Endo and mescderm [Option D = 17745)

Correct Answer -
» Ectoderm [Option 1D = 17743)

64} Proteins destined to be secreted to the cell surface move throwgh the secretory pathway in which of the follvwing

arder:

[Question ID = 4438)
1. Smasothi ER, Golgi transport vesicle, Golgl cisternae, sscretony vesicle, ool surface [Option 1D = 17788)

I Rough ER, Golgl citernae, Golgl transport wesicle, secnetory vesicle, cell surface [Option ID = 17747)
3. Rough ER, Golgi trarsport. wesicle, Golgi cistemae, secretory vesicle, cell surface [Option ID = 17748
4. Golgi transport vesicie, secretory vesicle, Golgi cistermae, Rough ER, cell surface [Option 1D = 17749)

Correct Answer -
® Rough ER, Golgl transport. wesicle, Golgl cistemae, secretory vesicle, cell surface [Option 1D = 17748

65) Which of the following & a primary standard is used in in standardizing bases?

[Question ID = 4439]

- amemonivm hydroxide [Option 10 = 17750)
Sulfuric acid [Option 1D = 17751)

- #oetic aod [Option I = 17752)

. Potassium aoid phithslate [Option ID = 17751]

.hl.-r-—-

Correct Answer -
& Potassium acid phthalate [Option ID = 17751)

66) Intrinsic fluorescence of protein is due to

[Question ID = 4440]

1. Aromatic amino acids [Option 1D = 17754)

¥ STHMOT COTTCETIIT SITSErS LIS [OIot 10 = 17 rs]
3. Histidine [Option 1D = 17754)

4. Proline [Option 10 = 17757] www.FirstRanker.com

Correct Answer --
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[Question ID = 4441]

Eoativan Hale

1%]

[Option ID = 1775E]

™=
B Lisin Hale

15

[Option 1D = 17754

=]
Himmim Eas

151

[Option 1D = 177&0]

F
Kewosam Kok

I5l
[Option 1D = 17781]

Correct Answer --

-
Ecwiken Haic

15l

[Option 1D = 17781]

68) Enzymes that catalyse removal of groups from the substrates without addition of removal of water are classified as
[Question ID = 4442]

1. Ohedoreductases [Option ID = 17762]

I Lyases [Option ID = 17741

3. Transferases [Option 1D = 17754]

4. Mydrolases [Option ID = 1775)

Correct Answer --
# Lyases [Option 1D = 17761

69) You have a mixture of three proteins in a Tris-Cl, pHT.5 solution with the following molecular weight (mw) and
ispelectric point (pl): P1 (mw 40 kDa, pl 7.4), P2 (mwi150kDa, pl 7.2) and P3 {mw 250kDa, pl 7.3) respectively. What
would be the most appropriate technigue to separate them in an active form?

[Question ID = 4443]

- Affinity chromatography [Option 1D = 177768)

- Size exclesion chromatography [Option 1D = 17767

1
X
1. &nion exchange chromatography [Option 1D = 17768)
4. Immunoprecipitation [Opeion 1D = 17769)

Correct Amswer =-
# Size exclimion chromatography [Option iD= 177&T]

70} Statins decrease the cholesterol level in blood by:

[Question 1D = 4444]

1. Inhibiting the wptake of cholesterod from the gut [Opt %
Wmmum&w D = mﬁp“hcm

1. Inhibdting the activity of HMG-Cod synthase in the Hiver [Option ID = 17772]



FirstRanker.com
https://firstranker.com/
https://firstranker.com/

o FiFStRARKEr Com """ "

lrﬂ!b't' BMW%MW n the g FirstRanker.com www.FirstRanker.com

71} The E value in a BLAST search measures
[Question ID = 4445]

1. The probabilfty that the seanch result & non- random [Option 1D = 17774)

I_ The probability that the sesrch nesult obitaimed is random [Option 1D = 17775)
3. The refiability of the seanch [Option 1D = 17775)

4. Significance of the search result [Option 1D = 17F7T)

Correct Answer --

# The probability that the seanch result obtained is random [Option IR = 17775]

72) To make a 1L solution of 0,24 MgCl: from a 108 stock selution of MgCly, the volume af HzD and 10M BgCly that s
needed to be mixed will be:

[Question ID = 4446]

1. Eiien] b0 + 200mil MgCly [Dption iD= 17774]

2. 5Sml M0 + Semil MgCls [Option 1D = 17779]

3. 950mil M0 + S0mi MgCls [Option D - 17780)

4. SE0ml M0 + 20l MgCl: [Option D - 17781)

Correct Answer -
® S0l M0 + el MgCly [Option ID = 17781

73) Wmmune response in Drosephila melanegaster is primarily mediated by

[Question ID = 4447)

1. T cell receptors

[Option il = 177&2]
I B ool receptors

[Ootion 1D = 177EE)
1. Antibodies

[Option B = 17784]
4. Ankl-microbisl peptides

[Option ID = 17785]

Correct Amswer =-
& Ank-microbisl peptides
[Option 1B = 17785]
74) How many membranes will a diff usible extracellular modecule destined for mitochondrial matriz transverse?

[Question ID = 4448]

1. Two [Opticn 1D = 17786)
i. Three [Option 1D = 177&7)
3. Four [Option iD= 17788]
4. Five [Option ID = 17789]

Correct Answer -
# Three [Option 1D = 1FFET)

75) Which ane of the following 5 HOT present in the primary structure of a protein?

[Question ID = 4449]

1. Covalent bonds in the side chains

[Option B = 17750]
- Cowslent bonds involving Bydrogen atoms

[Ootion 1D = 177591]
. Covalent bonds between sulphur aboms

[Option B = 17752]
4. Covalent bonds at the carbooy and aming terminal of the polypeptide

[

L

[Option 1D = 17791]

Correct Answer -
W PRI S Cese e S

[Option 1D = 17752] www.FirstRanker.com

76) A novel eneyme with sugar isomerase activity was purified from a species of Bacillus. The steady state parameters were
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Which sugar is used up fast (most rapidly when present in in micromolar concentration in the cell:

[Question ID = 4450]

1. Arabinose

[Option B = 17754]
I Glucome

[Ootion 1D = 17755)
1. Fructose

[Option 1D = 17794]
4. Xylome
[Option 1D = 17757]

Correct Answer -
& Xylome
[Ootion 1D = 17757

77) Bacterial cell culture with Optical Density of 1 means:
[Question ID = 4451]

1. 1% of incident light & absorbed [Option D = 177%98]

I. 10% of the incident Light is tramsmitted [Option 1D = 17799)

1. 1 of the incident light is

4. 9 of the incident Light is trhmsmitted [Option 1D = 17801)

Correct Amswer =-
& 105 of the incident Light is trpmsmitted [Option 1D = 177499)

T8) Which one of the folldwing technigues will allow you to visualize chromosomal translocation infa cell?

[Question ID = 4452 ]
1. Southern hybridization

[Option B = 17&02]
I_ Polymerase chain reaction

[Option D = 17&01]
3. Fluorescence in-sitw hybridization

[Option |0 = 17&04]
4. Mext generation ssquencing

[Option D = 17&05]

Comect Answer -

& Fluorescence in-sity hybridization
[Option D = 17&04]

79) Separation of proteins in a gel containing chemicals to establish pH gradient when the electric charge is applied is
generally known as

[Question ID = 4453]

- Isoelectric focusing [Option 1D = 17808)

1

I. Mattve gol electrophoresis [Option 1D = 17807
1. immuro-electrophoresis [Option 1D = 17808)
4

- Denaturing gel electrophoresis [Option 1D = 17809]

Correct Amswer =-
# soelectric focusing [Option iD= 17808

80) Flusrescence recovery alter photobleaching in live cells is used to determine

[Question ID = 4454]
e et il e e I 8 R R = s

I. Distance between two organelles [Option 1D = 17811)
3. Deffusion of protedns [Option D = 178132] m_Fimlﬂanhr_cn.m

_—
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81) HAHHRMMEHLEHEEMPMHM&“-EMMHE mm&‘ﬂm How
miany naturally eccurring nuclesbases are there?
[Question ID = 4455]

1. 1 [Opticn |0 = 17814]

2. 4 [Option ID = 17815]
1. 5 [Option D - 17814]
4. & [Opticn |0 - 17817]

:llmstﬂanker.cnm - __

Correct Answer -
® 5 [Option ID = 17E14]

82) Which of the following statements is TRUE regarding Golgi Apparatus (GA)

[Question ID = 4456)

1. A hes polarty [Option 1D = 17818

I Is often azsooiated with mitochondria [Option 1D = 17E19]

3. Trans- face is bocated near muckear membrane [Option 1D = 17820]

4. (i is the primany site for secretory protedn synthesis [Option 1D = 17821]

Correct Answer --
% GA hes polarity [Option 1D = 17E1E]

83) Assembly of bwo subunits 405 and 605 of the ribosome results in:

[Question ID = 4457]

1. 104 § monosome [Option 1D = 17EEY)
I B0 5 monosome [Option iD= 17821]

3. 70 5 monosome [Option ID = 17824]

4. 90 5 monosome [Option 1D = 17825)

Correct Answer --
& B 5 monosome [Option 1D = [I78321]
84) C-value paradox is
[Question ID = 4458)

1. Linearity of the relationsiip

penome stre and complexity of organtem [Option 1D = 17828
I_ Mor-linear relationship genome size and complexity of organdsm [Option D = 17827

3. Dosage compensation being = JFEIA]
4. Belation between number of chromosomes and complexity of organism [Option 1D

- 17829

Correct Answer --
# Mo lincar relationship between genome size and complexity of organtsm [Option D = 17827

85) When a fragment of genomic DMA was hybridized to its corresponding cDHA and observed under an electron
microscope the following structure was abserved.

The leops marked by armows represent

[Question ID = 4459]
- UTRs [Option 1D = 17830]
- Exons [Option 1D = 17&31)
- Introns [Option D = 1781X)
- Insertion loops [Opticn 1D = 1TERY)

.hl.-H—-

Correct Answer -
% introns [Option D = 17&1X)

B6) Peter Mitchell's chemiosmotic hypothesis used inside out submitochondrial vesicles. in an effort to replicate his
experiments, you prepare similar vesicles and assay for ATP production. However, you observe that very little ATP is
produced in the presence of ADP, Oy and physiclogical buffer at pH 7. You have already checked for presence of Pi in the
buffer. Which of the following will you do next to increase your ATP produection?

[Question ID = 4460]

1. Decrease the pH of the external buffer [Option ID = 17834)
¥, add more ADP to the evterral buffer [Option 1D = 17835)
1. increaze the pH of the externial buffer [Option 1D = 17E14]

4. Conclude that no more ATF can be produced from inside out vesicles amyway [Option D = 17837)

Correct Answer --
# Increase the pH of the external buffer [Opticn 1B - 178WW._ FirstRanker.com

871 The chromosome of a cartain bacterium is circular, double stranded DMA of 3.6 X 10° base pairs. I the rats of
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&0 m:um [Option g?ﬁﬂhmce www.FirstRanker.com www.FirstRanker.com

3. T2 minutes [Option 1D = 17&40)
4. 11 minutes [Option 1D = 17841)

Correct Answer -
& 10 minutes [Option 1D = 1TELE)

88) Leucine rich repeats (LRR) are an integral part of which immunological receptor?

[Question ID = 4462

1. Dendritic cell receptor [Option 1D = 17842
¥. Toll-ldoe receptor {TLR) [Option I = 17841]
1. T cell receptor (TCR) [Opeion 1D = 17844)
4. MK cell receptor [Opeion 1D = 17845)

Correct Amswer =-

#& Toll-l#e receptor (TLR) [Option 1D = 17843)

89) Alpha amanitin is a fungal toxin which inhibit the eukaryotic RMA polymerase. The three eukanyotic RMA polymerases
show differential sensitivity to this toxin. Which of the following order is correct with respect to sensitivity towards the toxin
[Question ID = 4463]

1. BHA POL Il > RMA BOL 1 > BHA POL | [Option 1D - 17848)

2. BHA POL Il > RMA POL il > BNA POL | [Option 1D - 17847)

3. BAA POL | > RMA POL lil > RMA POL N [Option I « 17848]

4. BNA POL Il > RMA POL | > RMA POL Il [Option 1D « 17849]

Comect Answer -
# BNA POL Il > RMA POL 11 > BNA POL | [Option IO = 17847]

90) A eukaryotic gene encoding a 50 kDa probein was cloned in an E. coll expression vector under the lae promoter and
operator. Upon addition of PTG, the expression of 50 kDa protein was not detected. Which one of [the following is the likely
explanation for the

[Cuestion ID = 4464
1. The cloned sequence lacked Kozak sequence

[Ootion 1D = 7750
I. E. ol does not make proteins larger tham 40 kQa

[Option iD = 17&51]
1. Differences in codon preference

[Ootion 1D = 17&5Z)
4. 50 kba protein contains a nuclear locatization signal

[Opticn ID - 17451]

Correct Answer --
# [ifferences in codon preference
|Option ID = 1FESE)
91) A scientist is comparing characteristics of a C3 plant -wheat and C4 plant - sugarcane. Which of the following is true
regarding these two plants:
[Question ID = 4465]
1. Wheat plant makes glucose in its bundle sheath cells [Option 1D = 17854)
I. Sugarcane plamt has stomata open only at night while in wheat the stomata is open only during the day [Option 1D = 17855)
3. Sugarcane plant physically separates its phases of C0z foation and Calvin cycle while the wheat does not [Option 1D = 17854]
4. Sugarcane plant uses Bubisoo for O0; fination [Option I = 17857)

Correct Answer --
® Sugarcane plant physically separates its phases of C0; fiation and Calvin cycle whille the wheat doss not [Option 1D = 17858]

92) Which af the following regulate the spening and closing of the stamata?
[Question ID = 4466]

1. HEOY channel [Bpticn ID - 17853

¥. Ma‘channel [Option IO = 17854]

3. Echannel [Option 0 = 17850]

4. Ca*channel [Opticn i - 17861]

e e
# K'channel [Option ID = 17&E0)

www.FirstRanker.com

93} W the sequence of coding strand in a transoription unit is as follows: 5 - GAGTTGCCAATTGCAGTC-37, the sequence of
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I 5 -CULAACGGUUAACGUCAG-1" [Option 1D - 17862]  www.FirstRanker.com www.FirstRanker.com
1. 5 -GAGULGCCAMUUGEAGUC-1" [Option I = 17844]

4. 5 -GACUGCAMMMGGLAACLIC-3" [Option 1D = 1T7865]

Correct Answer -
& 57 -GAGUUGOC s MGEAGLIC-1" [Option (D = 17864

94} A mutation in gene X gives a mutant phenotype. A second mutation in another gene Y restores the wild type
phenotype. The mutation in gene ¥ isa -

[Question ID = 4468]
1. Suppressor mukation

[Option iD= 17ES4)
I Bewertant

[Option 1D = 17&&T)
1. Intragenic mustation

[Option ID = 17ELE]

4. Receszive mutation
[Ootion 1D = 17&8%)

Correct Answer -
& Suppressor mutation

[Option 1D = 17

95) A cross is made between bwo homozygous plants with phenotypes of KEanamycin resistance and sensitivity. All Fq
progeny show resistance to Kanamycin. Selfing of the F; gives rise to F; progeny segregating for resistant and sensitive
phenotypes in a 63:1 ratie. How many genes govern this trait?

[Question ID = 44.69]

1. Two [Opticon 1D = 1TER)
i. Three [Option 1D = 17&71)
3. Four [Option iD= 17872]
4. Eight [Option ID = 17871]

Correct Answer -
# Three |l:'.“q:||:|nn D = 1:"!:"1]

96) The ratio between the energy transferred at different points through an ecosystem is called

[Question ID = 4470)
. Ecological capacity [Option I = 17874)
- Ecological efficiency [Option iD= 1 7EFS)
- Ecological assimilation [Option 1D = 17878
. Ecological potential [Option ID = 17&F7F]

.hl.-h-—-

Correct Answer =-
- E:nl.ngul Hfmﬂl:'.' ||'.'l|:||:|nr|. D=1 J‘EJ"!-]

97) Peptide bond of a growing polypeptide chain is generated between:

[Question ID = 4471]

1. COOH attached to Coof 1% amino acid and Mi; attached to Ca of the next

[Option iD= 1FEFE
T MM; attached to Caoof 1% and COO0H attached to Coof the next

[Option ID = 1FER
1. COOH attached to Cyof 1% and Hi; attached to Caof the mext

[Option 1D = 77
4. COO0H attacked to Cg of 11 amd MH; sttacked to Co of the next

[Option 1D = 17EE]
Correct Arswer --
® C0O0H attached to Coof 1™ amine acid and Mk; attached to Ca of the next

—llatign Il = 1757E]

9B} In plants, the pressure Tlow model used toWAMMRIRS URABKAE GO hicem content, and photosynthate movement

Trom SOUrce Lo Sink 15 driven by
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4. Apoplastic diffusion [Option 1D = 17885)

Correct Answer --
® &n ATP dependent pressure flow pump [Option 1D = 178E)

99} Insulin enhances glucose transport primarily by:

[Question ID = 4473]

1. Converting gluccse to glucose-&-phosphate [Option 10 = 1T884)

I. Increazing the number of glucose trarsporters on the membrane [Option ID = 1788T)
3. Changing the: bevel of LUDP glucose in the ool [Option 1D = 17858

4. Changirg the affinfty of glucose tramsporters [Option 1D = 1788%)

Correct Amswer =-
& Increazing the numbser of glucose trarsporters on the membrame [Option 1D = 17EET)

100) A pair of alleles, govern the synthesis of membrane proteins which are recognized by two different antibodies *X' and
“¥". When an individual whose cells cross-reacts to antibody “X° and mot to antibody 'Y is mated to an individual whose cells
cross-reacts to antibody *Y" and not to antibedy X', cells of all the progeny cross react to both the antibodies. Based on this
observation, which omne of the following best explains the relationship between the pair of alleles?

[Cuestion ID = 4474)

1. Epistasis [Option B = 17890]

I_ Incomplete dominance [Opticn 1D = 17E91)

3. Co~dominance [Option D = 17842)

4. Ower-dominance [Option 1D = 17833)

Correct Answer --
® Cp~-dominance [Option D = 178%932)

» Ei er.com www_FirstRanker.com
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